Practive Exam 1
Linear Algebra, Dave Bayer, September 30, 1999

Name:

ID: School:

[1] (6 pts) | [2] (6 pts) | [3] (6 pts) |[4] (6 pts) | [5] (6 pts) | TOTAL

To be graded, this practice exam must be turned in at the end of class on Thursday,
September 30. Such exams will be returned in class on the following Tuesday, October 5.
Participation is optional; scores will not be used to determine course grades. If you do
participate, you may use your judgement in seeking any assistance of your choosing, or
you may take this test under simulated exam conditions. If you don’t participate, you are
electing to join the control group.

Please work only one problem per page, starting with the pages provided, and number
all continuations clearly. Only work which can be found in this way will be graded.

Please do not use calculators or decimal notation.

[1] Solve the following system of equations:

2 -1 0 07rw 1
1 2 -1 0|z 0
0 -1 2 <1 ||yl | o
0 0 -1 21L2 6
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[2] Compute a matrix giving the number of walks of length 4 between pairs of vertices of
the following graph:
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[3] Express the following matrix as a product of elementary matrices:

N O O O
o o O =
o O = W
S = = O
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[4] Compute the determinant of the following 4 x 4 matrix:

O O R >
(eI D S
— > = O
> = O O

What can you say about the determinant of the n x n matrix with the same pattern?
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[5] Use Cramer’s rule to give a formula for w in the solution to the following system of
equations:

2 -1 0 0 w a
1 2 -1 0|l « b
0 -1 2 -1 ||yl |e¢
0 0 —1 2 z d
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